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int ans=1, a=2, b=3;
ROBNZEETUILEBOEH ans DIEEZE RIS ).

(1) ans = a + b;

(2) ans = b + b;

(3) ans = 2 * ans;

(4) ans = b % a;

(5) ans = b / 2;

BE 2 ZHZROLDICEEUL.

int a;
ROBNEEZTULLRBODEH a DIEZS AR,

(6) a=((2-3)+1);

(7) a = (int)4.2;

(8) a = (((int)2.5) + 1);

(9) a = ((int)(2.4 + 3.7));

(10) a = (int)(((int)2) + ((double)2.5));
B3 ZHZERODLDICEE UKL UL,

int ans=1, a=1, b=1;
RDBNZRTUILEDZEE ans DIBZS AR ).
(11) ans += (a = (b = 2));

(12) a = ans + 1;

(13) ans += ©;

(14) --ans;

(15) ans = ans++;

B4 ZEHZROLDICEE U THIEAME UL,

int a=2, b=3;

&2

ROBEXEETULBBEEA (true T2 false) ZEZER ),

(16) System.out.println(!(a != a));
(17) System.out.println((a + b) == b);
(18) System.out.println(a <= b);

(19) System.out.println((b % 2) != 0);
(20) System.out.println((a += b) > 5);
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(1) System.out.println("fafd"+"8");

(2) System.out.println("fSfE+8");

(3) System.out.println("f@/E");

(4) System.out.println("811"+"-"+"0295");
(5) System.out.println(811-0295);

(6) System.out.println("811-0295");

(7) System.out.println(811-295);
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(1) oxoe
(2) ‘'yy'
(3) "1
(4) true
(5) -1
(6) 1.0e+1
(7)y '1'
(8) 1.25
(9) o1
(10) "int"
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import java.io.*;
class Q5
{
public static void main(String[] args) throws IOException
{
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));
System.out.println("8§%l (0~23) ZANDLTLEEL), ");
int time = Integer.parselnt(br.readlLine());
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